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v K % NET HC TOT OUT 1IN [I=iva K % NET HC TOT OUT IN
Bp ME £ 69.0 180 87 46 41 gofy PaE K 1E 75.2 108 86 42 44
2 B # @ 70.0 240 94 50 44 Joft A £ %& 75.6 264 102 52 50
3 FER IEE 704 276 98 49 49 100t Mn H — i 76.2 108 87 43 44
4y B AN BB 70.6 264 97 43 54 110 S H A 76.6 324 109 51 58
s fBEHEH Z4E 71.0 180 89 48 41 12000 BN KE 77.0 240 101 54 47
6fu fRIF ZT4&E 71.4 216 93 45 48 1301 S LA B 77.6 144 92 48 44
7 A E ZTHE 71.6 144 86 44 42 1406t 2 H #h= 78.2 228 101 48 53
gfz I AN BR 71.6 144 86 41 45 1sof; JE B ft — 78.8 192 98 51 47
o XE AN TF 716 84 80 42 38 1601 HHE A5 79.4 216 101 48 53
1ot BSH 18 71.8 252 97 48 49 1700 &= B 81.2 348 116 56 60
1567 BEH Z % 722 168 89 46 43 1801 B A 85 84.0 360 120 54 66
200 Fih TR 72.4 216 94 46 48 190 HHE = F 89.2 348 124 69 55
250 B AN {EX 72.6 144 87 45 42

30 % H BE 728 252 98 50 48

3567 2 &= = 73.0 240 97 49 48

a0 KK Eff 73.4 276 101 50 51
4500 M ¥ — 73.4 276 101 52 49

sofy & A @k 73.8 72 81 42 39

60 ARH BF 74.2 288 103 52 51 BBE LB J&E <2 90.0 240 114 58 56
7001 R BHE — 74.6 264 101 54 47 BGE & [ & JF 78 39 39
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